[ Efficiency vs vertpos |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.01
0.005

1.0

+

I_I_I_I_{_I_I_I_I IIIIIIIIII@IIJIIIIIIIIIII
ra
=
+

0.95 ; :
1072 107 1 10 10?

DQM
DOM _
— DOM_TT_MS_detT-dpdq
Efficiend = pSMTT-M3 dotT-chiz

0.1
0.09
0.08
07|

T
0.05f it |}-++-3- et
0.04ftA|HEL-| -5 R
0.03f ([l {1 45 oo
0.02- |l ;}l ------ R gl -
E | 11 : : !
0.01H -+ -+-$-+—<»¢¢§-°¢%¢#}+---
0953550 10 0 10 — 20 30

[ Efficiency vs. sim PV z |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

D
T T T LTI

o
©
1 =)

T

e

+

n

+ [
—+ [
F————

+




	Contents
	Page 1


